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Arrange the following from north to south.

Golconda Fort, Golden Temple, Bibi ka Magbara
Golden Temple, Bibi ka Magbara, Golconda Fort
Golden Temple, Golconda Fort, Bibi ka Magbara

Bibi ka Maqbara, Golconda Fort, Golden Temple

S. H. Raza was an eminent -
painter

writer

singer

poet

The ratio of nominal to real GDP is a well-known index of prices. This is called as
GDP Deflator

Wholesale Price Index (WPI)

Depreciation

Consumer Price Index (CPI)

Almost of the world’s people live in two continents Asia and Africa?
One Quarter

One - fifth

Half

Three Quarters

Which film has been selected as Official Entry from India for Oscar Awards- 2022?
Chhichhore

Koozhangal

Newton

Marakkar

Who out of the following was the founder of the Maihar Gharana?
Ustad Allauddin Khan

Pandit Ravi Shankar

Ustad Ali Akbar Khan

Aashish Khan

In which language, Mirat-ul-Akhbar was started by Raja Ram Mohan Roy?

Hindi Language

GET IT ON

Google Play

EMPLOYEES SELECTION BOARD , BHOPAL

Police Constable Recruitment Test - 2023

Fofifed F1 IW T <R 31 ok Tafkua S
et e, waof ufe, it a1 qwa
wavi URR, St &1 awwT, MaseT fear
Tl 4R, Magst e, didt o1 Ao
it &1 TR, Magper frar, wof tfer

THAT BT ARG Febel U], IS BT 3JUNd PiAal bl T TR
St ferder

A1 e GEIFI® (STYITE)

s

NI Hed GASie (Wdtang)

SRS @I i <) weTgi, TR SR srbie # ed 87
TP g

T@H-giwdi

e

&

SRER QTBR- 2022 F T YRd 31 3R ¥ fo9 fhedt 91 snfdaiia
fssik

TET@

qeA

TRTER

Fofafed # ¥ $1 35X WA & IRTP 4?
IHIE AARPEH @

ufea famier

IIG Sfet SPER G

ST @

ST I Higd 39 A 59 11 & fR1d-39-2/aR &1 geefd 31
Rt vmar


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.No: 8
A

B
C
D

Q.No: 9

o 0O w

Q.No: 10
A

B
Cc
D

Q.No: 11

o 0 w >

Q.No: 12

o 0 w

Q.No: 13

o 0 w

Q.No: 14

o 0O ®w

Q.No: 15

English Language
Bengali Language

Persian Language

The Imaliya Gold Block is in the district of -
Singrauli

Balaghat

Betul

Katni

In which of the following places is the Fare of Mahamrityunjaya held in Madhya Pradesh?
Ratlam

Rewa

Shehdol

Jhabua

What is the colour of the alluvial soils and Arid Soils respectively?
Red to Brown; Light to ash grey

Black; Yellow

Light to ash grey; Red to Brown

Light Yellow; Black Colour

Philosophers like Rousseau, Voltaire and Montesquieu were associated with which of the following

revolutions?

German revolution
Revolution of England
French revolution

Russian revolution

In which district of Madhya Pradesh is the Fair of Nagaji held?
Morena

Mandsaur

Raisen

Khargone

Which of the following is not a Maharatna company?
Indian Oil Corporation (IOC)

Hindustan Aeronautics Limited (HAL)

Steel Authority of India Limited(SAIL)

Oil and Natural Gas Corporation (ONGC)

Which is the largest item of expenditure (in percentage) in the Union Budget 2020-21?
Defense expenditure

States’ share in taxes and duties

Plan Expenditure

Interest payment

Which of the following awards gives 24 awards each year?
Bharatiya Jnanpith Award

Sahitya Akademi Award

Yash Bharti Award
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Khel Samman Award

Which method of farming is generally adopted in India?
Ranching farming

Dry farming

Mixed farming

Shifted cultivation

In which of the following year, Bismarck became the chancellor of Germany?
1871
1857
1892
1865

Who become the first Indian and Asian women to receive the wild innovator Award 2021?

Anita Desai
Jaya Tripathi
Swati Pandey

Krithi K. Karanth

Business starts with production and ends with
Output

Delivery

Consumption

Investment

Which of the following is the active category of the Ramon Magsaysay Award?
Community Leadership

Public Service

Government Service

Emergent Leadership

Which one the following is an egg-laying mammal?
Camel

Buffalo

Platypus

Mole

What called prothallus?
Gametophyte
Homosporous
Heterosporous

Selaginella

Which of the following is present in the thermometer?
Hard water

Mercury

Milk of Magnesia

Bromine solution
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Directions: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the question
from the given options.

Assertion(A): A disaster is a sudden disruption of the natural balance causing harm to individual life and
property.

Reason(R): Disaster management is the strategy to save life at the time or before the occurrence of such
hazards.

Both A and R are false
A is false, but R is true.
A is true, but R is false.

Both A and R are true

The toxicity in the environment will harm a person’s to a high level.
Wealth
Health
Habitat

Pride

Sweet Revolution of India is launched to increase the production of
Coconut water

Sweets and Confectionaries

Honey

Jaggery

LPG contains a mixture of
propane and ethane
butane and ethane
ethane and methane

propane and butane

Directions: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the question
from the given options.

Assertion (A): The number of consumers in the environment goes on increasing gradually.

Reason (R): Gradual increase in consumers would lead to food scarcity and as a result the living beings
would die.

Both A and R are false
A is false but R is true.
A is true but R is false.

Both A and R are true

One gram fat on oxidation gives about _______ of energy.
20 kilo Calorie

1 kilo Calorie

9 kilo Calorie

15 kilo Calorie

What is the main use of salt in the diet?
produce in small amounts the hydrochloric acid required for the digestion of food
to prevent goitre

to make food taste better
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make the cooking process easy

Which of the following is the fastest growing plant in the world?
Bamboo

saguaro & Lichens

Lichens

saguaro

Work cannot be done without what?
Vibration

Displacement

Volume

Pressure

An implement used for weeding is
Tractor

Sickle

Funnel

Hoe

Phylum porifera is classified on the basis of ......
Reproduction

Branching

Porous walls

Spicules

Which of the following constellation is also known as 'Big Dipper'?
Ursa Major

Leo the Lion

Cassiopeia

Orion

Find the odd word/letters/ number from the given alternatives.
48 - 68

71 - 87

29 -45

5-21

In the following question, a certain series of numbers or letters is given of which one series is empty. You have
to decide which of the alternative series of the answer will be used in the blank space that is originally related

to the sequence of that series.
GL6, 119, KH12, MF15, ?
oD18

OB18

PB18

PB17

How many squares are there in the following figures?
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Find the missing term in the following series.

Q.No: 39
MNPQ, RISL, WDVG, BYYB, ?

A AUWX
B GTBW
(o] ATDM
D PSTV
Find the number of triangles in the given figure.
Q.No: 40
A 10
B 7
C 9
D 8
Select the option that will come next in the given series.
a1 @ OO B|GA e
" [0
|80
180
|80

Q.No: 42 Identify the class that best represents the Venn-diagram.
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A Mountains, Plateaus, Plains ‘Tq‘ﬁ, ToRR, 'aa'l'-l

B College, University, Students wiaw, fayfeney, om

C Professionals, Students, IPS ﬁ‘sﬁﬁ?, B, Sﬂﬁlﬁt{ﬂ'

D Sportsperson, Footballer, Goalkeeper '@?ﬂiﬁ, W‘eﬁm, MABIR

l{ifgtl:i—:nirror is placed on the line, then which of the answer figure is the right mirror image of the given R e 290 ) 9 E Y ™ @, @ =R et

A A

Q.No: 43
B B

He| ([E=
H<e

| |Be| e
| |Be| =<

O AELT Arged A A w21 7 §g E aF frawd of

A figure analogy is given below. Understand the logic behind it and complete the analogy for the next figure. £
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Select the option that is related to the third number in the same way as the second number is related to the
first number.

8:512::7:4913
18
16
15
17

Choose the numbers which is different from others in the group?
18, 24, 72

8,22

12, 3,12

8, 6, 24

Abhay walked 20 m towards north, took a right turn and walked 10 m. He again took right turn and walked 20
m. How far and in which direction is he from the starting point?

10m - NORTH
10m - SOUTH
10m - EAST
10m - WEST

Find the number of triangles in the given figure.

14
17
18
15

What should come in place of question mark (?) in the following question?
ABC:?::PQR:QSU

BDE

BDF

BDG

BCD

In the given figure, Circle represents the Women, Triangle represents
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persons who work in a School. Find out the number of Women who  SRISNR Afgaell @ WA F1d Biforg|
are unemployed.

0 N u ©
0 N u ©

Select the option that is related to the third number in the same way as the second number is related to the
first number.
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514U 30 ¢ 25:4U: 36 ¢
A 54 54

B 50 50

C 62 62

D 58 58

How many triangles are there in the following figures? frofafea srefadl & fean Bys &2

Q.No: 52

A 12 12

B 13 13

C 15 15

D 14 14

Consider the given statement to be true and decide which of the given conclusions/ assumptions can definitely
be drawn from the given statement.

U T By B T wH @R Ao & b Ry T By A P

Statement: ;
Q.No: 53 To achieve economic development, people should work hard. W F & g <t 1 e !
T e

conclusions:

1. 3 e aFil & HieT afem I B WEia 31
11, Tt ST ERT o1 TR ST SRivg B

I. Economic development is directly related to people’s hard work.

IXI. working hard by all the people is impossible.

A Both I and II follow Ml frspd 1 3R 11 Wt 21

B Neither I nor II follows A frad 19t g ik T feed ra@i @
Only II follows

c Faa frepd 11 W 21

D Only I follows haa freed 1 9 81

Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is 3 3R~ 7 T T S AR SR . .
Q.No: 54 related to the first letter-cluster. SkS e TPR Heifirs

Kcac : Cack :: XgmF : ? Kcac : Cack :: XgmF : ?

A EmgF EmgF
B EgmX EgmX
c FmgX FmgX
D GmeF GmeF
Which is the wrong term in the following series? Fafataa %I@T’ITff P 1 Ug Tad 8?2
Q.No: 55
4,7,12,19, 28, 41 4,7,12, 19, 28, 41
A 12 12
B 28 28
C 40 40
D 19 19
Q.No: 56 Find the compound interest on Rs. 300000 at the rate of 20% per annum for 2 years. 300000 U0 W 2 a4 & AT 20% Ui a9 H X A Thgls
A Rs. 132000 Rs. 132000
B Rs. 150000 Rs. 150000
C Rs. 124000 Rs. 124000
D Rs. 120000 Rs. 120000
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Q.No: 57 What percent decrease in salaries would exactly cancel out the 20 percent increase?

A (16+3) %
B (15+3)%
c (14+3)%
b (13 +3)%

Q.No: 58 Rahul sold a bat at Rs 768 and made a profit of 28%. Find the cost price in rupees of the bat.

A 640
B 650
C 600
D 700

Q.No: 59 If Vikram has 150 cars and out of them 48% cars are fine, then what will be the number of defective cars?

A 72
B 75
C 78
D 70

Q.No: 60 The ratio of income of Anand and Amitis 5 : 6 . If Anand gets Rs 1100 less than Amit, the total income is:

A Rs 12000
B Rs 12310
C Rs 11000
D Rs 12100
Q.No: 61 If the 70% of cost price is equal to the 40 % of selling price, then what would be the percentage of loss or

profit?
42.85% profit
75% loss

42.85% loss

o 0 w >

75% profit

Q.No: 62 By selling a car for Rs.64774 Ravneet gains 16.5%. For how much should he sell the car to gain 35%?

A Rs.80000
B Rs.66770
C Rs.75060
D Rs.55600

Q.No: 63 If the selling price of an article is Rs.700 and Cost price is Rs.680. Find the percentage of loss or profit?

A 2.85%
B 2.5%
C 3%

D 2.94%

A sum of Rs.7000 is deposited at compound interest becomes triple after 4 years. How much will it be after

Q.No: 64 12 years?

A Rs.84000
Rs.63000
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Rs.49000 Rs.49000

D Rs.189000 Rs.189000

In a class of 217 students, number of boys is 33.33% more than girls. If nine girls are admitted to the class 217 BE @1 TP ST H, TSHA B ga-T H T ot W& 33.3:

Q.No: 65 11 five boys are rusticated from the class, find the ratio of the number of boys to that of the girls. AR Ui TeHl ) Fel A o R S 7, A aSH B gew o
A 6:7 6:7
B 3:2 3:2
Cc 7:6 7:6
D 2:3 2:3
Q.No: 66 A working partner gets 20% as his commissi.on of the profit after his commission is paid. If the working % Wi ARIGR $1 Wad ?Lﬂi‘lﬁ, It FHRE F YT & 916
partner commission is Rs.16000, then what is the total profit in the business? 16000 394 , O TG & $a ard 1 82
A Rs.96000 96000 73
B Rs.90000 90000 ¥T
C Rs.32000 32000 73
D Rs.80000 80000 ¥
Q.No: 67 Find the value of 2% of 25 % of 20000. 20000 & 25% & 2% $T GF Jd DIl
A 100 100
B 1000 1000
C 11000 11000
D 10100 10100
Q.No: 68 A man makes his onward journey at 16 km/hr and backward journey at 28 km/hr. What is his average speed U@ S{TcH} 3=t S &t AT 16 fFHfl/der ot iy F $iR o 31w
during the entire journey (correct to 2 decimal places)? Gt AE & SR ITHT Sid T T 7 (S F 2 RIF OF
A 30.56 km/hr 30.56 fit/der
B 20.36 km/hr 20.36 fel/der
C 22 km/hr 22 f&fi/der
D 32.15 km/hr 32.15 fFi/der
] o ot
o o 1188 sl e of gt v sl 7 s M e 0 S i 5, 7 1
O IF A F U I 99 e o= &2
A 4,500 4,500
B 4,000 4,000
C 5,000 5,000
D 3,500 3,500

mmﬂaﬁ441oommﬁ|wmmﬂg

21 98 g0 ®E dF & Rrcar dar ST e €2

20
Q.No: 70 Sita earns Rs 44100 per month. She spends Z of her income and deposits rest of the money in a

bank. How much money does she deposit in the bank each month?

A Rs. 2100 Rs. 2100
B Rs. 2700 Rs. 2700
C Rs. 3800 Rs. 3800
D Rs. 4200 Rs. 4200

In the following equation, select correct combination of mathematical signs to replace A and balance the ErmffEs ariieRu 3, A $ TR 77 3R arieRo @1 e ¢
tion. 4
Q.No: 71 €du@

57 A63 A 299 A 23 A 107 57 A63 A 299 A 23 A107

A - 4, = 1Rk =
B +, = +, -5 =
C =, X, =, X X, =, X
D +, - %X, = +,-, X, =
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Q.No: 73
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Q.No: 74
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Q.No: 75
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Q.No: 76
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Q.No: 77
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Q.No: 78

Arrange the following words as per order in the dictionary.
1. Billion

2. Bifurcate

3. Bilateral

4. Bilirubin

2,1,3,4

4,3,2,1

2,3,4,1

2,3,1,4

Find the next term in the series.
AZ, BY, ?, DV, ET

CY

cw

cX

cu

In a code language, PENCIL is written as PNEICL. How will MOTHER be written as in that language?

OMHTRE
MHTORE
MTOREH
MTOEHR

A clock buzzes 1 time at 1 O’clock 2 time at 2 O’clock, 3 time at 3 O’clock and so on. What will be the total

number of buzzes in a day?
120
100
156
150

Which two signs should be interchanged to make the given equation correct?

35+48x4-18+9=5
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frufafea el @ Tserw & faT T B0 & R fafau?
1. Billion

2. Bifurcate

3. Bilateral

4. Bilirubin

2,1,3,4

4,3,2,1

2,3,4,1

2,3,1,4

Gl B ST UG J1d B
AZ, BY, ?, DV, ET

cYy

cw

cx

cu

& SIS YT B, PENCIL $I PNEICL & &0 ¥ forar ral g1 39
OMHTRE
MHTORE
MTOREH
MTOEHR

IR TE IS 1 R A 1 IR 2 W H 2 §R, 3 He & 3 aR iR TH wawr

120
100
156
150

fou T iR B OE S F o e &) Rl B smuw A waan s

35+8%x4-18+9=5

+ and - + 3R -
<+ and x + 3R x
+and - + 3R -
+ and x + 3R x
In a certain code, ‘POWER' is coded as “#*5@7" and ‘BREAKS’ is coded as ‘S7@%03". How is fdl Rf¥d ®e #H, ‘POWER’ &I B §

‘PAPERS’ coded in that code?

Ll
2
T
]
wn
~

What is the angle between minute and hour hand at 3 : 56?
228¢

142¢

‘$7@%03° | 3UI T H *PAPERS’ Bl Y Pied fhT
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C 360° 360°
D 152¢ 152¢
Q.No: 79 If HECK is coded as 94410 and DIG is coded as 588, then how will BIKE coded as? Tfg HECK $1 94410 $IfSd fawar Srar § oIk DIG &1 588 Fifed f&
A 38115 38115
B 38124 38124
C 39105 39105
D 19113 19113

I WY R qd § MU oof 3T 1 gt T S1a: T SHTUfR gof el B T

Q.No: 80 Iftimein a clock is 9 : 11, then at what time will appear in water? Ife I} F1 aRafad I 9 ; 11 8, U A e wg fears e
A 8:11 8:11
B 8:19 8:19
C 9:19 9:19
D 9:30 9:30

Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question SR R % Pl 3 @ o o vy B ﬁ.@ P e

figure?
[ 2] Al [ 2] Al
Q.No: 81 o o 2 P e 22
a3 A3

@ &> > &>

From the given alternative words, select the word which cannot be formed using the letters of the given word. U Tt 3w%feud Teal & | 98 Weg IAT St U T Wg & 31eRi &

Q.No: 82
ACTUATOR ACTUATOR
A Tutor Tutor
B Actor Actor
C Cat Cat
D Actuate Actuate

Q.No: 83 If 'M' denotes '+, 'N' denotes '+', 'R’ denotes '-' and 'Q' denotes 'x' then, 15M 12 Q5R40N8 = ? M B+ 7, N B R, RIS RARQ T
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Q.No: 84

o 0O w P

Q.No: 85

o 0O w

Q.No: 86

o 0 w

Q.No: 87

o 0O w >

Q.No: 88

o 0 w >

Q.No: 89

o 0o w >

Q.No: 90

eY

60
130
70
45

The bus for Chennai leaves every 30 minutes from a bus depot. The enquiry clerk told a passenger that the
bus for Chennai left 10 minutes ago, and the next bus will leave at 10 : 30 a.m. What was the time when
enquiry clerk told this?

10: 00 a.m.
10: 10 a.m.
9:50 a.m.

10: 20 a.m.

If ‘THEN’ is written as ‘RLBS’, then how may ‘CASE’ be written in that code?
AEP]
PAE)
EPAP
APEP

Which of these numbers cannot be a probability?
1]

-0.6

0.005

30%

If x¥? = y¥3 = 717 and xyz = 1, then the value of p+g+r would be

0
1
2

a rational number

A student answered 108 questions in an examination. In this examination, every wrong answer was given
1/3 minus mark and the right answer was given 1 mark. If the student scored zero marks, how many wrong
questions were done by him?

78
81
85
89

What is the least number that when divided by 60, 84, and 96 leaves the remainders 28, 52, and 64
respectively?

3392
3360
3318
3328

What will be HCF of 2= ,Q and 2
5’17 < 51

Sle

Sle
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60
130
70
a5

7S % oG 99 &% 30 e 3 v a9 301 @ Mead 81
UEdle & 7 U@ aE & qardn {6 99 & e 99 10 fee vga f
UBAIS TP 7 8 $d qAA?

a6 10 : 00 T2
A% 10 : 10 §
Ygag 9 : 50 T
ST 10 : 20 &9

I THEN' 3 Tt B § 'RLBS' foraT STam 8, < ST 'CASE' 3
AEPJ
PAEJ
EPAP
APEP

T 3 P A e W T T aedt 82
o

-06

0.005

30%

afg xMP = y¥a = 2 AR xyz = 1%, AT p + q +

)
1
2
U uiiy T

TP o 1 U@ Wien 7 108 9l & I feul
39 TN § IS Tad S R 1/3 BUTES S adl Tg1 S B
IfE BE A Y 3fF W fFu, @ I9F gR1 faem e wy fbg e

78
81
85
89

AGH AT T DI o1d GBI P 60, 84 3R 96 T fauifoma &

3392
3360
3318
3328

2 9 IREFIHY TAB IR
51

5’17

3

17

6
17
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o 0O wmw »

Q.No: 92

o 0 @ r

Q.No: 93

o 0 w P

Q.No: 94

o 0w

Q.No: 95

o N w P

Q.No: 96

o 0O w

Q.No: 97

o 0O w

11
17
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Ramakant is running around a rectangular track of length 180 m and breadth 90 m with a speed of 10.8
km/h. How much time in minutes will he take to complete 10 rounds?

40 min
20 min
30 min

10 min

What value would come in place of the question mark (?) in the following equation?

42 X21+6+623++2704="

822
887
752
764

The product of two numbers is 5043. If the HCF of these numbers is 41 then what is the greater number ?
205

123

164

82

If AABC is similar to ADEF, such that A = 47° and 4E = 63°, then 4C is equal to:

70°
65°
40°

37°

In what time will a train, 60 metres long, running at the speed of 36 km/hr pass a telegraph post?
6 sec.
7 sec.
8 sec.

9 sec.

One-third of a number i 96. What will 40% of that number be?

181.44
115.2

169.92
204.48

ST 180 Hiex $T darg IR 90 Hiex T AT a4 TP AMFAHR
dl 10 IFS QI HA H I fba wwyg e

40 fiFe
20 fiFe
30 fiFe
10 fiFe

Frafafad gfiezu & UsaEs fag (?) & RIM R &1 HE $E?

42 X21+6+623++2704="?

822
887
752
764

3l IBTSHl BT PHAGA 5043 T T 37 GBS HTHCF 41§l ¢
205

123

164

82

Ifg AABC ~ ADEF, A = 47° 3R ¢E = 63° @l .C

700
65°
40°

37°

36 foeil/der 31 1fd I Iem ardl 60 Hex dell T ¢ TF e
6 A&s
7 ¥Fs
8 AFS
9 Ads

Ueh TEAT FI UF TGS 96 &1 3T TTAT I 40% F
181.44

115.2

169.92

204.48
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Q.No: 98 On the map, a length of 3/4 cm represents the distance of 240km on the ground. What length on the map AR )R, 3/4 9.1 9 e sHF W 240 {51 Y g8 &1 welf

will represents the distance of two cites. Which are 1820km a part on the ground? AR R e dars & el @t g o1 velia Huit o s T

A 7.68 cm 7.68 .t
B 5.68 cm 5.68 .4t
[ 4.68 cm 4.68 ¥4t
D 3.68 cm 3.68 .4t

) The area of the trapezium is 1152cm and shortest distanceis 16 cm, if theratio of its parallel sides O FT &AGA 1152%%3?'?@@?@ 169"
Q:No: 99 js4:5 then findthe length of longerside. 1:5%, maﬁgmaﬁmmml
A 80 cm 80 a1t
B 40 cm 40 it
c 60 cm 60 It
D 30 cm 30 It

© MPESB. All rights reserved

. 9" x35%(27)? . 9" x35x(27)?

QNo: 100 ¢ 2 X3X@7) _ 27, then the value of n is: ﬂﬁ;—:——=27,% arn & AW §
3x81% 3x81

A 1] (1]
B 4 a4
(o4 3 3
D 2 2
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